No.UGVCL	./PLD/Tech	/JE	(TMS)	/
----------	------------	-----	-------	---

Date: -

PR NO	<u>323324</u>
RFQ NO	<u>44206</u>

# **Open Tender**

## **ADVERTISED TENDER NOTICE NO.10/2017-18**

Name of Work

Tender for labour work of laying aerial bunch cable as per side requirement under IPDS Scheme at Palanpur City sub division under Palanpur Do 1.

Estimate cost.	Rs. 499840.00	
Earnest Money.	Rs. 5000.00	
Security Deposit.	5% of order value.	
Last date of receipt of tender at	Date :- 10-08-2017	Up to 15.00 Hrs.
Date of opening the tender at	Date: - 11-08-2017	Up to 16.00 Hrs (If Possible )
Tender Fee + GST 18%	Rs. 500.00	
Time Limit.	Six Months	

Issued to	:-		$\vee$	
UGVCL,	OT.ACCTT. DO-1, PALANPUR  Bled in the Tender.		EXECUTIVE ENGINEER UGVCL, DO-1, PALANPI	
(1)	Tendered Value :	_		
	(To be filed by the Contractor)	Rs		
(2)	Earnest Money Deposit			
	Paid vide Receipt No	Date	Rs	
	raid vide Neceipt No	Date		

(Signature of Tender with rubber stamp)

Note: - Tender received through RPAD will be accepted and tender fee should be paid During office hours in this office.



### **GENERAL CONDITION**

#### (1) EARNEST MONEY DEPOSIT

- (A) Earnest money deposit 1% of estimated cost or minimum Rs. 500/- as indicated on the case sheet should be paid by the tender along with the tender in cash or by demand draft of any schedule back of Palanpur in favour of UTTAR GUJARAT VIJ COMPANY LTD. In which cash receipt shall be attached with tender invariably.
- (B) Tender without earnest money will not be considered for acceptance.
- **(C)** Earnest money deposit will be forfeited in case the successful tender after his tender has been accepted fails to pay the prescribed security deposit.

#### (2) ACCEPTANCE OF TENDER

The Company does not bind itself to accept the lowest or any tender either will any reason be assigned for the rejection it is also not binding on the Company to disclose any analysis report on the tender Conditionally. Delayed & Late tender will not be accepted.

#### (3) SECURITY DEPOSIT

The lowest tenderer whose tender is accepted shall have to pay 5% security deposit of the tender cost within 10 days from the receipt of the acceptance order. If you fail to erection work within time limit your security deposit will be forfeited.

#### (4) GST NO./PAN Number

- (A) GST NO. and Date must be mentioned in tender.
- (B) PAN Number and date must be mentioned in tender.

As per GST Act, UGVCL is in the process of amending various Commercial Terms & Conditions of tender. The following terms & conditions to be amended are given below:

Name of Terms & Conditions	To be added/amended	
Tender Fee	Plus applicable GST	
Prices	Replace Excise Duty, VAT/Sales Tax by GST	
Excise Duty	Replace Excise Duty, Sales Tax/Vat by GST	
Sales/VAT(Value Added Tax)		
Octroi	To be deleted	

The present tender is floated with Pre GST regime. The modification in line with GST Act will be bound to all the bidders.

#### (5) JURISDICTION

Any dispute of difference arising under this connection with contract shall be subject to the exclusive jurisdiction of UGVCL Palanpur DO-I. (N.G.)

#### (6) PAYMENT

- (A) The payment will be made within 30 days of possible on receipt of the work completed. By crossed cheque on local bank subject to advanced stamped receipt being received form payee.
- **(B)** Accepting authority reserved the right to rejection of any or all tenders without giving any reason thereof.

#### (7) GENERAL

- (A) The tenderer must quote his rate per units specified the schedule including all taxes in figures as well as in words. It there is difference between rates quoted in words or figures quoted in words shall prevail.
- (B) All tender must be submitted in forms provided by this office and must be clearly & legibly filled in the tenders should be filled in ink. The tenderers are requested to sign wherever mentioned in tender and schedule or rates and if not signed the tender shall be rejected.

#### (8) PENALTY OF LATE WORK

In case if the materials are not supplied within time limit the penalty for late delivery will be charged as decided by the competent authority.

#### (9) ACCEPTANCE OF TENDERER

In case of any dispute regarding supply of material or any other defect found. The undersigned will have full right to reject the entire fabricated quantity or to stop payment in case of unsatisfactory work and that will binding to the supplier.

- (10) Right to reject any or all tenders without assigning any reason there of is reserved by the undersigned.
- (11) Please mark you envelope "Tender for labour work of laying aerial bunch cable as per side requirement under IPDS Scheme at Palanpur City sub division under Palanpur-1 Do
- 12) Commercial & Technical Specification of above are as per UGVCL and formerly GEB norms and

conditions.

(i)

## (ii) <u>TAX CONDITION.</u>

- -Income Tax at prevailing rate will be deducted as per Income Tax Act.
- -The rates are inclusive of PF and all other State/Central Govt. Taxes, Cess and levies but exclusive of Service tax.

### (iii) UGVCL VENDOR REGISTRATION SHOULD BE ATTACHED WITH TECH. BID.

Sr.No.	Class of Vendor Regis.	Minimum Experience in years	Consider eligible for participation in the errection tender of HT/LT/TC
1	CLASS-A	5 YEARS	Can participate in tender of the errection work of HT/LT/TC line for any amount tender invited through limited/open/n-code by division/circle.Vendor registration mandatory.
2	CLASS-B	3 YEARS	Can participate in tender of the errection work of HT/LT/TC line for any amount up to <b>Rs. 10 lacs</b> , tender invited through limited/open/n-code by division/circle.Vendor registration mandatory.
3	CLASS-C	1 YEARS	Can participate in tender of the errection work of HT/LT/TC line for any amount up to Rs. 5 lacs. tender invited through limited/open/n-code by division/circle.Vendor registration mandatory.

The above documents should be submitted in form of attested true copies along with technical bid.

Division Office:-1, City Char Rasta, PALANPUR-385001 (North Gujarat)
Telephone: (02742)-255457/250388. Fax: (02742)- 255453
Website: www.ugvcl.com

## Following Tender documents are required

- 1. Solvency certificate issued from any nationalized bank amounting to equivalent of estimated cost (Minimum 1,00,000/-).
- 2. Separate EPF code No. allotted by RPFC & last six month of current year EPF challan paid copy is required.
- Electricals contractor license, Contractor registration in C&B&A class Minimum (any Govt. Department), PF no. and Challan for last six months, VAT certificate, Pan No., CST No, ESIC, WC Policy service tax no. Etc.
- 4. Last Three year income tax retune certificate.
- 5. Work satisfaction certificate of 10 KM of AB Cable from the concern executive engineer of UGVCL and other Disco.
- 6. In case the tendered as failed to full fill the terms and condition of the tenders within this circle in past or fail to execute the work order, the rate will we finalize only after personal negotiation.
- 7. Any other document if require by authority should be given.

Contractor shall have to strictly follow all the instructions, term & conditions of concern Authority and the necessary approval / NOC etc. is to be obtained by the contractor from the concern Authority own cost.

Signature of Contractor Date :-

Executive Engineer, UGVCL, Division Office-1, Palanpur



## **SCHEDULE**: B

Name of Work :- Tender for labour work of laying aerial bunch cable as per side requirement under IPDS Scheme at Palanpur City sub division under Palanpur Do 1.

Nos	s Item Description		Qty	Rate	Total	
	3 3 3					
1	Labour Charge of Laying 1C 35 + 25 mm2 LT ABC Cable	MTR	1500	15	22500	
2	Labour Charge of Laying 3C 35+16+25 mm2 LT ABC Cable	MTR	3500	20	70000	
3	Labour Charge of Laying & Fitting 70/120 mm2 HT ABC Cable	MTR	2000	110	220000	
4	Labour Charge for Anchor clamp for 70/120 mm2 ABC cable	NO	700	40	28000	
5	Labour Charge for Eye Hook for 70/120 mm2 size ABC cable	No	700	40	28000	
6	Labour Charge for suspension clamp for 3x25+16+1x35	No	700	40	28000	
7	Labour Charge for dead end clamp for 3x25+16+1x35sqmm	No	300	40	12000	
8	Labour charges for fixing of piercing connector IPC	No	1000	75	75000	
9	Labour Charge of Dismantling Existing wire	KM	7	620	4340	
10	Labour Charge fixing of ABC out door cable kit suitable 10 for70mm2 HT ABC & termination 12			1000	12000	
			/	Total	499840	
Amou	Amount in Words:Four lacs Ninety Nine Thousand Eight Hundred Forty Rupees Only					

Scheduled rates as shown in SC	HEDULE -B above.
--------------------------------	------------------

	The rates quoted are	% above/bellow to the sche	duled rates as shown	n in SCHEDULE -B abov
--	----------------------	----------------------------	----------------------	-----------------------

Note: - 1] Executive Engineer having right to increase or decrease work quantity.

- 2] Work must be carried out as per drawing & specification attached herewith.
- 3] Work to be carried out as per site situation & instruction of Engineer In charge.

Executive Engineer UGVCL, DO-1, Palanpur.

Contractor's signature with seal.